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General Instructions : (i) All questions are compulsory.

(i) Use of calculator is not permitted.
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Instruction : (A) Question Nos. 1 to 4 are very short answer type questions.

Each question carries 1 mark.

w0y et Wi F I T W I (1
5 =y
(2] -

Find the order and degree of the differential equation :

(2]

3/2
= kx

-2, 49k 7 O ueE A ek (F-a)-(X+a)=8 A, @ |%| =1 v T

R ' [1]

If 7 is unit vectdrand (¥ =) (X +a) =8, then find [¥|.

bl
qvq-3 qﬁ:A:l qur B= az‘r,?hA+Baﬂm=fs|maﬁi%n{1 1]
> a
a b b
If matrix A= b and B= , find the value of 4 + B.
- a a
yyt-4 W17 96 S f—de. (1]
ax+b
dx .
Evaluate f i b
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Instruction : (B) Question Nos. 5 to 12 are short answer type questions.

[3]

: (W) TEFEE S § 12 7% oy I ¥ § | TF ¥ W 2 3%

fauif@ ¥

Each question carries 2 marks.
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cos(log x)
=S

X
&6
NS
Find the vag :

f cos(log x) i
x

x+3 -2

~3x 2x

gfe xe N a4 —§ &, @ x T UA F@ :

x+3 2
-3x 2x

If xeN and — 8, find the value of x.

[2]

2]

(2}
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11 -1 2 3
tan l—+tan l——:tan*l—
2 11 4 2l
Prove that
tan 1—-—+t:a.n_1—=tan‘IE
4

x=1mm=rf(x)=2x+3ﬂniﬂaaﬁﬁaﬁml [2]

Check the continuity of the function SX)=2x+3atx=1.

W10 AR o @ X, ¥ ek Z e ¥ 90°, 135° 7T 45° F1 Y0 AR T

3wt e wroand aw F 2)

If a line makes angles 90°, 1359 and 45° with the X, Y and Z axes

respectively, thenfind the direction cosines of the line.

-1 gy =1gy(l ,fﬁﬂ
og(logx) & e T HH I Fife | [2]

If y = log(logx), then find the value of —% :

W12 TR P(A) = - =1 L&
| (A) =2, P(B) - 3k P(AﬂB)=~l—4- &, & P(4U B) w1 R
o wife)

(2]

1 1 |
If P(4)=2 P(B)=1 1
(4) 5> P(B) > and P(AnB)—M,thenﬁnd the value of P(4U B).
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Instruction : (C) Question Nog.

13 to 23 are long answer type questions.
Question Nos, 14,

17 and 23 have internal choice. Each
question carries 4 marks.

w-13  wfewl d=2i+2j+k sk b=4i +4] -7k Wi T o= T

Hicw Im wifg) )
Find unit vector normal to the vectors Ei=2f+2}'+£ and
b=4i+4; k.
w-14 oz i
-1 1 8 -1 84
sin” ' ——sin~ —=co0s  — 4
17 85 4]
Prove that
sin“‘lj sin_l—%-—cos;_lgi
5 B 85
HUqr
OR
afe tan~' T 4 tan ' 2L T @ xR SR
f-_.""} x—2 x+2 4
1 x—1 1x+1 =
Find the value of x if tan : +tan~! =—,
X — x+2 4
NM-45C+ P.T.0.
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fe (tan x+1+x2]a§x

Evaluate :

WH-16 3R F,b,c WHE® WEW W WER & fF sab+c=0, @

a-b+b-c+c.a T HA TG FHoT| (4]

If @,b,¢ are unit xéctors such. that a+b+7 =0, then find the

value of 3. B°Oh - +5-a.

WA-17  TF W E A 9 WA B WA W w R 9R o Inow
'atamow.%,?hmvﬁswéhwmmﬂagm%? [4)

The volume of a cube is increasing at a rate of 9 cm3/sec. How fast

is the surface area increasing when the length of an edge is 10 cm?

erar

OR

——
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Find the absoly,
e -
. ) MaXimum and absolyte minimum values of a
function given by £(x) = 9,3

=152+ 36x+ 1 on the interval (1, 5).

@18

Find the general solution of the differential equation :

(1 + x2)dy + 2y dx = cotx dy (x £ 0)

w19 A AN A R B RUEI A 4 A 3 v sl 4 et R E ofm ¥ B

5 & 3R 6 e 12 ¥ | e o 3 A Tgom TR Frae T R,

I foF e 1 F ¥ 1 T8 W ) Wi ¢ & g i &9 B R P
TR

Two bags A and Bai¢ given. BagA contains 3 red and 4 black balls
while anothet bag. B contains 5 red and 6 black balls. One ball is
drawn at random from one of the bags and it is found to be red. Find

the probability that it was drawn from bag B.

T-20 uﬁAamBaﬁﬁmﬁ%ﬁAmsﬁﬁW@%ﬁﬁ
ma:mn-mmﬂ')lfmmm'

{wo | then the probability of
independent events, _
If A and B ar¢ )

occurrence

f at least on€ of A and B is equal to 1 - P(4") P(B). Prove.
of atlc

(4]

(4]

(4]

S
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Wet-21

eT-22

9¥i1-23

(81
fag =ifag

x xX+y x+2y
x+2y x x+y|=9%(x+y) (4]
xX+y x+2y x

Prove that

x x+y x+2y
x+2y X x+y =9y2(x+y)

xX+y x+42y x
_ 42
Iﬁ%3‘=ﬂ(¢051'-i-fsmt)~?-1"|'(_-,;=‘:;-{sinz‘-:‘casf),ﬁ?I:_,_E ELG]

Hifag | (4]

a'zy

Ifx=a(cost+¢sinf) and y=aq (sin ¢ - ¢ cos f), then find 3
dx

MW%W#WzﬂR={(a,b):ﬁwz,(a—b)-qﬁ

fawifsra et ) gredied §9u.R TF goaar gy ¥ [4]

Prove that the(y¢lation R in set of integers Z given by R = {(a, b) :

(a — b) isdivisible by number 2} is an equivalence relation.

Hear
OR

AR f: R — R 41 g : R—R T F9: f(x) = cosx A4 g(x) = 3,2 grq

SR 8, 1 gof Tl fog T HIT I PG FIIG gof £ fog.

Find gof and fog if f: R — R and g : R—R are given by f(x) = cosx
and g(x) = 3x2. Show that gof # Jog.

NM-45C+
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[nstruction 2 (D) Question Nos. 24 to

qF1-25

29 are long answer type questions.
Question Nos. 24 and 25 have internal choice. Each
question carries 6 marks.

NTH =G Y a2 + 2 = 4 G et x = 0, x = 2 A FoR A 1 ATFA

EICE IS https://www.cgboardonline.com (6]

Find the area lying in the first quadrant and bounded by the circle

x% +y? =4 and the lines x = 0, x = 2.

arerar
OR

2 2
e ‘I‘_é.+%=1 { f & 1 AAFS I FA)

2 2
Find the area of theYegion bounded by the ellipse ';:— + :%— =1.

Yawit 7 = (G + 2] +k)+Mi - j+k) 3R

7= (22 ] — k) +p(2] + ] +2Kk)
¥ &= ) Faa g8 Ia Hif) 6]
Find the shortest distance between the lines

F = (?+2}+£)+1(3-}+£) and

g

NM-45C+
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Find the vector and Cartesian equation of the plane which passes
through the point (5, 2, —4) and perpendicular to the line with direction

ratio (2, 3, -1).

el
=26 AR y = (tan~1x)2 &, o fag Fifaw fis (2 + 1Py, +x @2+ 1)y, =2 [6]
If y = (tan~'x)?, prove that x2 + 1)? Yo+ 2x (2 + Dy, =2
n/2
we-27 [ log(sinx)dx =1 wm gm Fifi (6]
.0

n/2
Find the value of f log(sinx)dx .

LY

wyA-28  3nege fafu A 551 gt g &) & Fifa : (6]
xty+z=3
2x -y tz=2
x—2y+3z=2
Solve the following system of equations by matrix method :
x+y+z=3
2x—y+z=2

_:[——2y+3z=2

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

https://www.cgboardonline.com
[11]

- .-'_" ﬁ
x+2y>10,3x+4y<24,x20,y>0

7 = 200x + 500y 1 FATH HWH FMa HifC |

Solve the linear programming problem graphically subject
to

ety

constraints the
x+2y210,3x+4y<24,x>0,y>0

Find the minimum value of Z =200x + 500y.
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